1. Which of the following is the binary representation of the decimal number
(78.5625)?
(A) 1001110.1001
(B) 1001110.11
(C) 1001100.1001
(D) 1001110.101
(E)  None of the above.
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3. Which of the following is the number representation of IEEE-754 single-
precision floating-point format (C18900001s)
(A) (-117.5)
- (B) (-117.125)
(C) (117.125)
(D) (-17.125)
(E) None of the above.
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9.  Which of the following condition is not correct regarding deadlock or necessary
conditions for deadlock?
(A) Mutual exclusion.
(B) A process may hold allocated resources even though it cannot use it until
other resources are available.
(C) No resource can be forcibly removed from a process holding it by operation
system.
(D) Operation must abort all deadlocked processes to avoid deadlock.
(E) None of the above.
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13. A binary tree has eight nodes. The postorder traversal is FECHGDBA and inorder
is EFCABHDG. Which of following is the preorder of the tree? ’
(A) BHDGAEFC
(B) BHDGAFEC
(C) AEFBCDGH
(D) EFCADHGB
(E) ACEFBDHG
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16. Which of the following is result of running the C programing language below?

#define Ml{a,b) a * (b}
#define M2{(a,b) (a) + b
#include <stdio.h>

void main(void)

k int nl, n2;
nl = 2;
n2 = 3;
nl = M1{nl - n2, n2 - n1) * M2(nl + n2, 2 * n2);
printf("%d\n", nl);
¥
(A) (-11)
(B) (-7)
© (2)
(D) 2 :

(E) None of the above.
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21. Which of the statement(s) are correct in TCP protocol?
(A)TCP is Connection-oriented

(B)TCP is process-to-process
(C)In TCP, sending and receiving data is done as sequence of characters

(D)TCP is network layer protocol
(E)TCP groups a number of bytes together into a packet called segment
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23. Which of the statement(s) are correct in Computer Networks?

(A) The length of an IPv6 address is 128 bits.

(B) IPv6 does not use Broadcast type of address

(C) Telnet can be used for file transfer, too.

(D) Two colons (::) are used to denote continuous hexadecimal fields of zeros.
(E) Transferring a file by FTP uses UCP connections.
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29. Which of following item(s) is correct about Computer Networks?
(A) SMTP uses the TCP port 25.
(B) An email client has to know the MAC address of its initial SMTP server.
(C) SMTP defines message encryption. '
(D) SMTPS is based on the SMTP connections secured by SSL.
(E) Simple mail transfer protocol (SMTP) uses TCP as the transport layer
. protocol for electronic mail transfer. o
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